10 11 12 13 14 15 16 18 19 20 21 23
@mu 2] =W ] [] 8 v " #TeTs
ou
GRADE
N
132 177.7 Breather Pipe
PS3/4 Plug Screw 64 70.5 M16x1. S Thermo Senor
823 Thermo. SWITCH M14x1. 5S¢ 953 C*) a8 M2Sx1. 5 Plug Screw 9 <935
526 24 32 912
lant Inlet Fi liat °
Coolant Inlet Fron Radiater 26 Oit Filler Cap 437
Voter Drain Cock
M18x1.5 .
Cooling Fan
— N _ .
45t 0 @ =——
Fuel Filter © ML
L] -
. 3 3 I T 5
= & .
Q N i ® ® ® ® by
o - v
~ -
(] n — _ - H]
¥l o %
© ~ 2
8 & -
2 . _
(]
x.._ (o] i ovT v n o
T T et " |B909,5
o .@. b sesos
° "
. e * | 3
o = ] [
< o 8 - T _ L _
PS1/8Top9 ~ [ \ PS1/8,Tap 9  M5x08,50°Ternmol MI0x1.5
Oi Press. SENSOR L 30 5 e0_ | 20 — Eng, DA Press. Sensor 30*Terrinol
ﬂ 54.5 Breather bas
0 55 —
P IS .
U N mw o | 85 44
@ & o N 1 6205U0 Bll BRG.
a -
135 mw J . KS-B2023
373 3 ¢ 396 _
s08 108. 3 108. 3 | s 136
L
681 | | .w‘_M,_...u \N Vw/ u‘_M@ _ - 308 276. 5
692 I \ / | ~ 681 ¢DRAIN PLUG> »
791 723
876 832 CALTERNATOR MTG BKT)
193 876
©76. 3x3. 2t __mmﬂw
585 7325 364
2-215 13
10° 22
| =
0100, 4-v12
o SPECIFICATION
ENGINE MODEL ARGA ¢ >
od s EARGA ¢ DBSS8
CYCLE 4
o NO, AND ARRANGEMENT OF CYLINDER | 6, VERTICAL IN LINE
) o W/P PULLEY
B T o N 2 BORE x STROKE 102nm x 118mm o
~ E FIRING ORDER 1-5-3-6-2-4
= COMBUSTION SYSTEM DIRECT INJECTION
COMPRESSION RATIO 17.5 : 1
(=]
1o SWEPT VvOLUME 5785 cc
o DRY WEIGHT 450Kg ¢ DRY WEIGHT)
“
e e 4 QUTPUTC 1800rpm> oD BY EERE
- ) r
o2 4 CRS PULLEY 2446 P ["conTinuous 87 Ps
“ o ”0”_ INJECTION PUMP IN-LINE ~ A" TYPE
s e, GOVERNOR TYPE RSVCALL SPEED CONTROL>
INJ, NOZZLE OPENING PRESSURE 185Kg/cm®
12-M10x1. S .
LA STARTING INJECTION TIMING B.T.D.C 20 .
STARTER
2-M10x1.25 3-u8 Y, £ 24V _x 4. SKkW
TaplS,Drit20 c _\ " 20 20 ALTERNATOR 24V x 45A
()S CENTER S 68 304 FROM F. F. B ENGINE OIL CAPACITY ¢OIL PAN> 19 LITTER ¢ 20 LITTER)
526 173.8 FROM C.R-S COOLING WATER CAPACITY(E/G ONLYY| 12 LITER
975 COOLING FAN ¢ 6 BLADE > @520, BLOWER, STEEL
977> IDLING RPM 700 225 °
THERMOSTAT OPENING TEMPERATURE OPENING TEMP, 82C
L FULL OPEN TEMP, 95C*
Rsg
2-06 2 \j
Normal Position «
B 9 bVO n @ ©
- ~ O
9 -
N} o O
. U7} a
2 < e
m - 26. 3
o STOP LEVER 50. 6 50 ®
o CONTROL LEVER 75.5 Stop Position -
w
. ina Positi
Q Full Position 25 Idling Position
m.. ( SCALE=N.S ) B o © LR _...Ew _u._m CI—
78 LK} ) 4E SCALE
? Tores < ENGINE ASSY [
(EAROA.B) FOR GENARATOR | ™
#1841 DES-A3230 |2a no. e
'S 83 23 ¥3 [|agwo. uar
il " 65.00506-7151 i
L 8
3 AFE - M _ Doossn Infracore Co., Ltd. (55 |1
2 3 . s [] 7 8 ° 10 n 12 13 1 15 16 AL} 9 20 2 22 23




